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5HFRUGV LQ 3URJUHVV *HQHWLF 7UHQG

1HZ SURFHGXUHV IRU UHFRUGV LQ SURJUHVV ZHUH LQWURGXFHG 7DEOH � VKRZV WKH LPSURYHPHQW LQ 37$ IRU WKH ODVW
ZLWK WKHVH HYDOXDWLRQV� *HQHWLF YDULDWLRQ RI SURMHFWHG FRPSOHWH \HDU RI GDWD� *HQHWLF WUHQG LV WZLFH WKHVH YDOXHV
UHFRUGV ZDV LQFUHDVHG WR HTXDO WKDW RI FRPSOHWHG UHFRUGV EHFDXVH SURGXFWLRQ GHSHQGV RQ DOO D FRZ·V JHQHV� QRW MXVW
E\ H[SDQGLQJ WKH GHYLDWLRQV RI SURMHFWHG UHFRUGV DURXQG WKH KDOI WUDQVPLWWHG WR SURJHQ\� 7DEOH � H[WHQGV WKH WUHQG
WKH PDQDJHPHQW JURXS PHDQ� 7KHVH H[SDQGHG UHFRUGV REVHUYHG LQ UHFHQW \HDUV WR SUHGLFW WKH JHQHWLF PHULW RI
UHFHLYHG OHVV ZHLJKW LQ WKH HYDOXDWLRQV� $YHUDJH \LHOGV FDOYHV UHVXOWLQJ IURP FXUUHQW EUHHGLQJV� 7KH VLUH DYHUDJH
UHSRUWHG ZLWK WKH HYDOXDWLRQV ZHUH FRPSXWHG IURP UHFRUGV LQGLFDWHV WKH VXSHULRULW\ RI VLUHV� 7KHVH WDEOHV PD\ KHOS
EHIRUH H[SDQVLRQ� 7KXV� QR QHZ LQWHUSUHWDWLRQ LV QHHGHG UHPLQG SURGXFHUV WR XSGDWH WKHLU VHOHFWLRQ VWDQGDUGV WR
H[FHSW WKDW 37$·V IRU DQLPDOV HYDOXDWHG SULPDULO\ IURP ILUVW� NHHS FXUUHQW ZLWK WKH SRSXODWLRQ DQG WR WDNH DGYDQWDJH RI
ODFWDWLRQ UHFRUGV LQ SURJUHVV DUH QRZ PRUH DFFXUDWH� VXSHULRU JHQHWLF PDWHULDO WKDW EHFRPHV DYDLODEOH HDFK \HDU�

6DPSOLQJ &RGHV

7KH 1$$% VDPSOLQJ FRGH V\VWHP KDV EHHQ H[WHQGHG WR
PRUH EXOOV DQG QRZ LV DYDLODEOH RQ WKH EXOO HYDOXDWLRQ
GLVWULEXWLRQ WDSH �IRUPDW ���$��� 7KH VDPSOLQJ FRGH LV LQ
SRVLWLRQ ��� DQG WKH VDPSOLQJ FRQWUROOHU LQ SRVLWLRQV ����
���� 8SGDWHG YHUVLRQV RI WKH IRUPDW DQG UHIHUHQFH QRWHV
GHVFULELQJ WKHVH FKDQJHV ZHUH VHQW WR UHFLSLHQWV RI WKH ���
WDSH RQ 2FWREHU ��� ����� &KDQJHV DQG XSGDWHV WR
LQGLYLGXDO EXOOV PD\ UHVXOW LQ VDPSOLQJ LQIRUPDWLRQ RQ WKH
$FWLYH $, /LVW VXSHUVHGLQJ WKDW SURYLGHG RQ WDSH�
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